


Hezro] 10 Q1 4 o)A 2 42 Fojola),

[ 2
> ®E: 10 & +10

Aoigtolst = ”d QellA a3 Aol A-lE &gt
Adizro] 10 ¢l = YF o 2HE Ay} 10 ¢ So]B & 10 7
-10 & 993t D}

O FoH & 55 ujsirg 0 229 9|3t 10 o] & $=o|t}.




5 A% a, b A 2 HEIE AR BYQ) Solek, 4

27t 18 4 W, ¥ 4= a, b5 Ttk

(F,a>0)

> E

> =

> e a=9FE+9
> HE b=-9

9

ddigho]l 21 7371 A& Wiiel = Y o255 A7t

2o F o AL 18 o]Er A o2 HE O AT ot
oltf, a > 0 O|BE=E g = S 7|ELE QEZOZ 9 UF
olFF +9 0l b= AHE VIR IR o= 9 HHF o] 5Tt

-9 o]t}

w2tk a =9, b= -9 7} At}

_4

B )




k13

=

o, g+ b =7

@ -4

® -2

-0.19 9% a =
S oo
2

a+b=-10+2=

b=2

-10

-8




5. Al 584 a, b, c o ol T2 F &2 722

® a-b=b-a @ axb+c=axb+axc
® (a-b)-c=a-(b-c) @a+%:ax%(‘ﬂ',b¢0)
(@)ax(b—c):axb—aXc

B

@DQa-b=-b+a

X b

a
@axb+c= Laxbraxc=bxc

®(a-b)-c=a-b-c,a-(b-c)=a-b+c

1
@a+z:axb




